2 oA 1A = (DEC ©]21 AD
2¢cm , CD = 4cm , CE = 3cm € T, x
Zdol=?

o

A

@ 4cm @ 4.5cm @50111

@ 5.5cm ® 6cm

B

(C 7} ZE0|11, /A = /DEC o|B2
AABC @ AEDC o]t}

HaH72: 1028

2:1=BC:4

BC = 8(cm)

. x=BE=8-3=5(cm)




2.

@ AB//EF © L ling
® AC//DE @ ACAB OACFE

® ABAC c0ABDE

® 6

B

D38 :
@9 : )

:9#£9 :990|22 AC//DE & &4 ¥t (x)
@8 :
®6 :

12+ 9 :9°]2& AB//EF &+ &7 ¥t} (x)
6 =12 :8 0|22 DF//BC °]t}. (

1229 :9 0|22 g-go] olyrtt. (x)
9+9 :9°]BR gFo] ofyr}, (x)




HPAPAY ABCD oA ZF ¥ o] F4
JRoA 7= BYPAR Y2

Fafolat

ol g

@ 1A @ 27 ® 370

@a

® 571

oABCD, oAQCS, oAPCR, oAECF




th2 1204 AC//DE, BC : CE = 2 : 1°]1, AABC = 24cm? ¥
o, ABCD 9] Yo]=?

@ 30cm? @)36cm? ® 40cm?

@ 48cm?2 ® 50cm?

AABC = 24cm?°]1. BC : CE = 2 : 1°9]E 2 AACE = 24 X
1

5 = 12(cm2)

AACD = AACE (- AC//DE, AC = 3%)

. OABCD = AABC + AACD = AABC + AACE
=24 + 12 = 36(cm?)




